WRBSE AHMEEE Q04FE) ERTEFE(E)  BEIOEHEELHH) XKBETHFETTDTERITDIGENHYET, Z T ERSIZSLY, 6868
48 58 68 18 88 98 108 118 128 18 28 38
1A 3t AN + BRI B X BmHH B 13:00 102K 1]k AT M R & B * %A t + 1
2 %  Fet B HREBLAER(THR) | % & A 2 K f;f/jfjﬁ&fz;‘ﬁw + A * n B 2
3 K & B J2 K T2 * JEN R B ko K ENFAND & J2 J2 3
4 K + BEYDH * &R, g B x 4| AL A I * + pe Pe 4
5| & i CLiER-HIEE) B ZEbon x & AHHTERERIP) A e 5+ K 10:00~SHERERI x B v = S | 5
6+ 2 BRI X + AR * 2 6 8 * B gt K |36 MH A kA2 K Al 747 6
7 |8 & FHER & (K% E * + 7| A |EEEm X £ [ IRESAEKR S (=) | & &3 A BHES £ AR 7
8 B At K FHER + 2 x E 8 K & RS RIZE (1) E K EFAD + + 8
9| Je BAE /i e E K NHER IR (1) £ 2 0 K + 2 K |3 ABHS (REZH) | B B 0
10K SKNEBORE | & e A EETIER Tabe K eoissar) (1 CEETN | % 10| A | RBIR BR n * | S A L) | A |30 AR 24 B AARCEDRE) 10
e + K| VT ARRBUT ke B Lo A x 1| & BERREE B SCsE A — Lk + ) gl K AR (GRS 11
12 % (RAEEE 1) E K R IR T 2 BRI K| 2l M T AMD 12+ ke fess x B * * 12
13+ 2 K PRI (T T) + AR * & | H2EENT 2RO 13 B k|72 s & 2 WA K 2SI ) x 13
148 * 2 B Rk * + 14 A PE X + * & B 2 14
15 A * + 2 I Eh. X B 15| & | %7 2@ T E * + + 15
16] X # feP A R PRI (2472) E PIR o 2 B Wb 15 T 16 7k T EIN Tt ol K3 HAREMFAD  |B B 16
17 K IR Rt 50 W | & 13: 00HEHED J2 k|l A2 t * 17 & E I TS ® 30 FARENTAND | B AR B NEASER SAEBRNRE 17
18] K A BT t * x E IE WeEDH 18 % B ~5y kATl k| A + | T () * P 18
19 & B KIELEEH T ZRO & X A PN 19|+ X b SEEPN LT S ] B K| RS 2 TR D 7K 19
20 + 2 K H UM AMD + AR * £ 20 B K| 3T ARD & |18 A saka 2 A HEAEESEHEO K EHOH 2
218 * & FH1EENTF AN B i EFR * + 21 B K| H3EEMT AN + * & B & 21
22| A Vi + A PN B 22\ K & |FH3EEMT AN = KIEBES + * 22
20 k00 SRR K R x & A #p08 23 t wymson A * : K g : 2
24 K HFHRD (1, 340E020F) | & RBELK A L OILABPTALKER + * e E ks £ H5ea LRI 2 Rk A 2
25 K |13:00 WEHRR BF4) £ x KB paga ik B 7K 25 & A 7K +|FaL e AR x x 25
2% & : * & pIESTREA kT e e x * B R AR .ﬁfﬂjﬁﬁ K B e 2
e
27 A AR DEMMRA (14F) T N ENFAMD 12T AL | & 27 B 7K & A KR|3EETO PN 27
- . 124F AR EHT AL

2 8 K 7 AND & : X + 2 A * x ZHTIRT g e T e ST 2
29| B EFnod A KT RER * A AR|13:30 L2 29 K AR LIRS =] K ot 29
30| N EIREBATHIRDAL (5131 HET) | A | PIBHRZ(1-3.441) H b3 & L‘;’,,' g“ P A 30 K * A x g%g;\g@ﬁ%% =] 30
31 & 7K + 31| K | KGR 2 X & B HEHEX 31




